~ o?bocﬂmm AT - Ha B v
@ (P(’D\.—«? "D- -yl
guely ubux X" u Xy g=xzx x=x°
X’

g=x"

=J - .
:P(D) ’Df:h&a D=7 "'Q; @V xj'\
. e 4=0/ ( y=A
/ - "x
. A
'P(’D\’Kd&da@ g(xﬁdﬂ)di - K%i‘;)‘“ _ SC\Y"‘ V‘\C\x




@ s e, wrapuge: 1= 0 ( [ pupay ) o
1= S(;S’“‘S\m)% - ﬁ?“"ﬁw“jﬂ
1 ! D

x€[0in] »ye e, 1] 4" WX 2

& Yo » Y- i«

& a«) Yy %l-\— Z\i’}l&ﬂ: 1
(-1

@ Yo u \x—u"+a‘:/ T aomt(?\m

J

UE['M] » TR o =] | C _(G&dd‘“)/ §(5p8%)dy
. WA dsg
£ * 39[0:4‘?#7 x=0 A\L?f’,‘:* o 14 3
* yebhol ~ m-‘\‘%‘q el & RA\ NG £

& A =gt .
XA A\ =A-X ST \*‘ “h'ﬁz \ \




4_., 3 82[\.03 xe|l -y°, 1]

30 I;: Y] d&[m‘] XE[Ov"] v,
-\ P 1- f( $xy) dx)d‘a *‘j (g?“"ﬁ)dgﬁ Q
e °

20 faax
Bamerin TpRpuy unGme: T = Igdg) dx (>0 dopuuciop)
® oo wiuie: T | (197{:: d
I W,g%hﬁ)d“’u D=7
+ y=laax= - fx

* J=Vaax (204-X7 &> 4>0 w H = oy
& U>0 w U+x&M+a 0.
co)*

= M e (x-a\iﬁ

. (Q‘O)
o g




o F1- j\a(ﬁ%mdd)dx |

0

Pyt ariye-o®
@ Ernw PR Enn

2
3&[9.(1] Qota. a:fﬁi - xzf‘T

AAAAA
WW.‘. (K’Q\IH":QL
L{;ﬂ: _8?.
g o L a-x= o2
@ efo,al %€(0,0] ‘e a-Tatae
Pé] (X-Q‘?' 1:07- *M:W 2 W\/\A)jﬂ
48 W S Ls AS Q- 01_31.
X-0 1% x>0 o0
P ooty )
.y -4
Npm& X=20 @ ae[ﬂﬂﬂ] qowl: a-ﬁ% X w
‘ W =0
v Q“ﬁﬁé <o _ﬂi(m




20,

> 1 J([Roweyef{ (v e [{ho)g

@ 1-= ff(ma)dxdd D: U«X)ca a =X, H‘\jJ‘ xﬁ,4l

g% y=Iox

TGeRUR WOke .
tax  ° WY LK * ¥yt Y =i
v=4-y %":2-18 prp o
thy-2>0 L12,-6) , D& 4)

m




Dy xe(23]

T e yhX ‘(vpmuzxam

= ;(‘km‘l')( ‘X(‘I‘X\‘(ﬂ;&}: d_x + ;?X (|2—x)+(n%\z> + xm -x) dx - t;@:%



Qﬁlr;ou‘bmm uHRIPaW
[[Tdxydogdz  qyugdn meopua.
T Tcm3 me(,mh w T;{(x.g.ﬂeﬂ’? I(Xu\‘j)f“?, ot(\(tj\é}S(s(X@)}
f-umeqmb‘uma rpojecha T
T

I g gt = I (1 bugard) oy

Tcm

D= fluy) &R | asxeh Py Yo Y

Mo T = J‘me( f ;t:y.%)d% ) ‘*@) dX

ﬁ\
%\7
1+

a|Px) \luy)



®z =—J1T_I xdxdyde T ={ng MR | By s £20Y

AOU T 0L
T- ? 10,00y =4

: |yt 2y D on Diipd ;

d

€= ~‘ CATR R
, i VIxby2 Gtz 220
' 2=0

=P T=dmyd) eR®| (ygleD, Oszs 4‘*‘-&‘}1

s 2o g gy - D5
VI- {)I Ely?) ddy




@ OO KON QUARIR
Roxp du dao &1 vux 7

L e )
dnpane: XELIAT by g=1 Nyl

P 1- Lﬁ‘ (-QI;M&Z)%)

j\@-xt?d‘&’:) IW dy g(“ - pr’L oL{W) )

A

= gy Iy f (1- okt ectt) ? cost ok
- ‘e (1-X )%.dx 0 Il“ xz) dx — L mﬁ
d 3

), t
ﬁ[&?t g\k (@2t)"2= st WS )
), W, L, 1 Hh, _}w&,k)’*)o\k
= %S os't Ak = %{(leﬂk_,)d& 2 OI (A+ 2wk (w
2 : D
15 ] =3(2t+s i) @
= ’(’5 S;bt‘l‘l'lwﬂt-k“iosl‘t)dk = a( ‘:’.\: +¥m%+§ '0




%0
2=x,2=0x, 2=h (W>0)

/f—(? X< T <IX

Eex s




